90: /2
sin (90°+A) = Cos A | sin (90°-A) = cos A
cos (90°+A) =-Sin A| cos (90° -A) =Sin A

tan (90+A) =- Cot A| tan (90°-A) = Cot A

Sin (180-A) =Sin A sin(360+A) = sin A

Cos (180-A)=-cos A cos(360+A)= cosA

tan (180-A)=-tan A tan(360+A) = tanA

sin (180+A) =-sin A sin (270+A) = - cos A sin( 360-A) = -SinA

cos (180+A)=-cos A cos (270+A) =sin A Cos(360-A) =cosA

tan (180+A) = tan A tan (270+A) = - cotA tan(360-A) =tan A
270 :m/2

Angle in degree Signs as per Quadrant Sign change Sin €= cos near 90&270 else no change

() sin(A+B)=sinAcosBi+cosAsinB
(ii) cos(A+B)=cosAcosBz+sinAsinB

tanA +tan B
(iii) tan(Az B)=im—an
1+tanA.tanB

CotA.CotB¥+1

(iv) cot(A+B)= otALcotB

(v) sin2A=2sinAcosA-= 2tand
2
1+tan< A
_ 2
(vi) cos2A=cos?A—sin2A=1-2sin2A=2cos’A-1= w
1+tan< A
24_

(vii) tan2A= Zmnf , Cot 2A = cor At

1-tan< A 2CotA
(viii) Half Angles Sin Aoy 2o CosZ =+ 1+Cosd

2 \f 2 2 2
(. ) t é _ [1—cosA _ SinA _ 1-cosA
X anz T AJ1+cosA  1+cosA  sinA
(x)  sin3A=3sin A—4sin3A
(xi) cos 3A =4cos®A—3cos A
.. 3tanA—tan3 A
(XII) tan 3A = m
(xiii) 2sinACosB = Sin(A+B)+sin(A-B) 2cosAsinB =sin(A+B) —sin(A-B)
2cosAcosB=cos(A+B)+cos(A-B) 2sinAsinB = cos(A-B) —cos(A+B)
(xiv) sin C+sin D =2sin""L2cos 2 sin C —sin D =2cos =2 sin"=2
2 2 2 2
cos C+ Cos D= 2COS% cos% cos C- cos D =- 2sin %sin%

(xv) If A+B =180 then sin A=sin B, cos A=-cos B, tan A=-tanB
(xvi) If A+B =360 then sin A=-sin B, cos A= cosB ,tan A=-tanB
(xvii) Sinx=Siny = x= n1t+ (-1)"y, cos x= cos y = x=2nmty and if tanx=tany =>x=nmnzty, n€ Z



